>
A & 0l & AF 2 E A A
20208 & =0l & LBFSIH MSAIE A A
M= AE A A
CHSAE 22
zaesSEBL CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MSAEAS A 8,247,460 6,340,691 1,906,769
J| 977,000
Al 7,270,460
HMsAd 2Z2el 7,724,680 5,876,828 1,847,852
J| 977,000
Al 6,747,680
SessEzel 2,070,327 122,452 1,947,875
J| 977,000
Al 1,093,327
Sg2s¥2d 2 20,225 20,225 0
201 Let24E] 14,465 14,465 0
02 2324l 14,465 14,465 0
O1 3322 ¢ HA 12,000
D& -Gt AMES 1,000,000& »12& 12,000
O2 ¢ =l 2,465
>DERsE ¢al 2,465
O JIAZHI (MO 2 38)
1,297 3«50 4 Al 2H+95 2,465
202 o4dl 5,760 5,760 0
01 = LH o4 1l 5,760 5,760 0
OM=AE 222 A8 WUl 480,000& *12& 5,760
SE2SEANERANES 96,102 102,227 A6,125
201 et 32,002 30,627 1,375
01 At 22l 18,352 15,702 2,650
O1 get=&Hl 17,488
D&M Mol S = (1002 )
3,300 «100& 123 3,960
DESM MAIISE (500 )
1,690& x100& 123 2,028
DA M U HASF(EA 150n)
300,000& =122 3,600
DAgAY otdzte] HElE 425,000 « 122 5,100
>s2I HI18E ==2 150,000& * 12/ 150
D&l 2td R 2eE
2,650,000 = 1CH 2,650
o6 g1tz 864
DZ2d H AXNZ(CILE 3.58)
600,000& *13] 600
DESI ZUZ 22,0003 x1CH+128 264
02 =24l 13,650 14,925 A1,275
O3 A& ZHl s Xl 13,650
DREALS 50& x5,499m" x 103 2,750




SN HSALAY L
M HMESAE 222
o9l sEesTe (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DIOIAZHIE(E022 801012 148)
4,000,000& =14 4,000
DRI FY B 100,000& = 10CH 1,000
DM S, Ast8H AL+
2,000,000 » 14! 2,000
DATEEY H+=X&#3 Fa
9,000& x100& 900
DEZE YSSAFH HHEE+
3,000,000 » 14! 3,000
206 24 36,600 36,600 0
01 MHZ 4l 36,600 36,600 0
SgHIE (8 XEELO) 55,000 »260 L 14,300
O%Hl = 220,000& =103l 2,200
OLEol &dHE s 30,000& »2601L 7,800
Ooctel8 HelE 50,000& *x2& *203] 2,000
OZCIFZ HHEA 29,0003 +50= 1,450
OEFR3L(ZRE) 450,000& 1= 450
OB4g 8 ®U(8XE) 20,000 *200m 4,000
O&Il, sS4, A8 JIH MEHl S
4,400,000 * 14! 4,400
401 AIEHI L 2CHYI 27,500 35,000 A7,500
01 A& HI 27,500 35,000 A7,500
ZE2ST ME2 FANES (A, 01,8
g) 20,000,000 =14l 20,000
OZEg=2sd A58 FIIAFH(23)
7,500,000 » 14! 7,500
ATEER2SE P HAEBL AHY 1,954,000 0 1,954,000
J| 977,000
Al 977,000
401 Al HIZ 201 8] 1,954,000 0 1,954,000
J| 977,000
Al 977,000
01 A& HI 1,954,000 0 1,954,000
OFFSE2SE AXE HIEZ ALY
1,954,000, 000& 14 1,954,000
J| 977,000
Al 977,000
XM= etatel 263,980 333,603 A 69,623
AAdH=s22 2t 152,781 152,968 A 187
201 ¢er24l 152,781 152,968 A187
01 At 2t 2l 6,711 6,711 0
O1 et=2Hl 6,183
> B2 Jdl 50,000& «12& 600
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A MEAEAML L
g HMSAME 2822

ool HletHs 2R (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
>ERAII| N2 10,000
o4 KLIE(320RT) 6,000,000& * 14 6,000
oO24222(0.35MW) 4,000,000& =14 4,000
DOIHA JIHEHKAN EX(2HEIZ 2 9=
) 300,000& *10& 3,000
DUHHE ) X B 250,000& =404 1,000
DAM SHi = AstAEH SANES
2,000,000& * 14 2,000
>DESXEAEH SAES 2,000,000& x 14 2,000
>24x EIOIN REEY, Mo, UESAHY|
e A 3,000,000& x 14 3,000
206 M= 8l 5,108 5,108 0
01 X &2 bl 5,108 5,108 0
O&I,S4&, A8 JIH MEH S
3,000,000& x 14 3,000
O3xJ| DI&EH 46,0002 *18H 828
O3XJ| Z2l2H 35,000& *34 4 1,190
OFFUE(ZINE) 45,000& =24 90
401 AIEHIL 20| 56,000 125,400 A 69,400
01 Al BI 56,000 125,400 AN 69,400
OXNAHES2 AMES BL2A(AHZS,01H,ED]
s) 20,000, 000& *14! 20,000
OXsdMsa 1252 FIIHNEH
6,000,000& x 14! 6,000
OXsdMEs2 22 SFEHA E=3A
30,000, 000& 14! 30,000
A=A 903, 155 1,012,108 A 108,953
FFESEMs22I 2 418,169 410,609 7,560
201 Yur2 Y| 409, 169 410,609 A 1,440
01 AFR2 2t 2l dl 4,808 3,984 824
O1 dBEt24dH| 2,800
DEANSIG+ZEH 200,000& x12& 2,400
DEAZAODIEEN 2 35) 200,000& x23] 400
O4 12| 400
DIIAHAZR R 100, 000& #2091 x23] 400
O6 Xtz 1,608
>DESI X2 28,000 *3CHx12& 1,008
>Hld iz 25,000 *2CH x12& 600
02 352494l 404,361 406,625 N2,264
O1 222= % HA 282,470
DEIRS 21,000,000& x12& 252,000
DAl ER2 2,000,000& x12& 24,000
PUERLEES 6,000,000& 13| 6,000




A MEAEAML L
g HMSAME 2822

ool AEZSS L (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DIOIAHIAMAESE R 50,000& *13] 50
Det=MPI = EH(BSEMSH)
100, 000& »3¢2! 300
>et=2g2tel 8 sl 120,000& * 13l 120
O2 ¢zl 121,891
DESMSZ LY AZH (S AIJEA) 121,252
03JNE(He)
8203 »153m" x4 A| 2t 201 x50 50,184
OZJI&(we)
5403 x116m x4 Al 2t x2CH 60 L 30,068
0&JIELH
820& x97.5m x4 Al 2tx2CH x50 31,980
o2=2¢d 8203 27 .5m x8Al 2t x50 9,020
DHAE LAMI(700kW) 1,278 %5004 *13 639
206 = Hl 9,000 0 9,000
01 M2 4l 9,000 0 9,000
O3s=x=J12H 9,000,000 =14l 9,000
BTEEMSZANERNES 484,986 601,499 A 116,513
201 €24l 359,806 461,519 A 101,713
01 At 22l 44,723 41,723 3,000
O1 g2t 44,723

DotEAM U HAZE(SEX 2 158
*1

500,000

DM SEHMSSE (1002 )
3,300& «100& 122 3,960

DAY I SEHSE (504 )

)
23 6,000

1,690 x90& 128 1,826
DAAMUHAIDN(2+2Ld]) M =2
150,000 & »2CH 22 600
DEZNA AEANE IISAM =2
270,000& *12 270
DAYAH otd22 HE=
1,200,000 128 14,400
DEf2 A HIIZ A =23 (32.5kw)
200,000& *12 200
D2l HIIBEAM =82 150,000 »2CH 300
DAOLE MIILd] A =2
12,000,000& =13l 12,000
D&2Il o™ X2l (2H)
2,583,500 *2H 5,167
02 3324l 315,083 419,796 A 104,713
O3 A€ ZHI =Xt 315,083
DM=X A 11,0003 464 & *23| 10,208
DEAALS 50& x9,150m x 102 4,575
De2g A 300, 000& »6LCH*22 3,600




A MEAEAML L

HE: HMSAE =g

ool AEZSS L (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
D2l Y 222 A
1,700,000& »3CH 5,100
D> Y22 L E M2 (400RT*2)
4,700,000& »2CH 9,400
DXIGHHIE E+& Ea& 1,200, 0002 *14] 1,200
>EEUSE ALZHISA
15,000, 0002 14! 15,000
D24x EIOIH 2ESEY , d&8 HSSAZH|
dZB+ 3,000,000 » 14! 3,000
DUSHHANAYE SAEH(S22HWAH, =
Mol 2 28) 10,000, 000& * 14! 10,000
DUERIEH L CCTVEH = XI24=(CCTVIH
et 12000, =3t&dl 2) 8,000,000 *14! 8,000
DEEME2(X WI 2, 5g2sd,.2=0
aZ S)EA8 245,000,000 » 14 245,000
206 M= Hl 10,980 10,980 0
01 MHZ 4l 10,980 10,980 0
O&Il, sS4, A8 JIH MEHl S
5,000,000& » 14! 5,000
OF2N 2 A23(ELAHE) 190,000& =122 2,280
O, e I 2el M=yl 2,000,000 14! 2,000
O3EAE & AMHH (HE 2 58)
1,000, 000& 14! 1,000
OUE(s+) 100,000 «7& 700
401 AlEHI 22 OhYI 99,500 129,000 ~29,500
01 A& HI 99,500 129,000 A 29,500
OANEE FANE=(AHAE 010,80 8)
35,000,000& =14 35,000
Od=s=2 FJIAdFZ 7,500,000 » 14! 7,500
O&IIa degIl wil 12,000,000 =14l 12,000
OolE"®ZE &£dl uAl 25,000,000& =14 25,000
OdsZId RYUXE 23 M
20,000,000& =14 20,000
405 XHobF S HI 14,700 0 14,700
01 AU SEH S| 14,700 0 14,700
OHAHEE DI 10,000, 0002 »1CH 10,000
OSH&H 1,800, 000& =14 1,800
O A3! CH 1,600,000 *1H 1,600
OPC 1,300,000 = 1CH 1,300
=33 2el 582,060 857,660 A 275,600
HEdaadae 141,780 140,580 1,200
201 2et2 Y| 141,780 140,580 1,200
01 At 22l 1,800 1,800 0




A MEAEAML L
g HMSAME 2822

S EEE (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O1 g2t 1,800
DA MESE L FLASS(EE242=s0
& 3EA S) 150,000& = 12& 1,800
02 2324l 139,980 138,780 1,200
O1 3322 ¥ HA 139,980
DAGIETASR(BEE2E82=s01E 2 50ia)
10,000,000& = 12& 120,000
DAst=MES(E282s01E)
130,000& 62 780
DEINRS(BE2H=2=0122 50iA)
1,600,000& 122 19,200
HESFAANERANE S 440,280 417,080 23,200
201 Let249] 212,740 48,540 164,200
02 =224l 212,740 48,540 164,200
O3 A& ZHl s Xl 212,740
DY S+, 28017 SAE=>
3,000,000 » 14l 3,000
DHa=Z HA(0El0l =033 220) 45,540
ottt 2= 11,0003 *25E 153 x6.& 24,750
OHA 2= 11,0003 »45E «73| x6 & 20,790
>OIRIOl SOIAIE HEEZ 448
250,000 128 3,000
DOHE0l =03 &MI|&H otd2e| e
= 100,000& 12 1,200
PESYH S50 2822 9
160,000, 0002 14! 160,000
206 = Hl 3,540 3,540 0
01 MHZ 4l 3,540 3,540 0
O&Il, sS4, 48 JIH MEHl S
2,000,000 » 14! 2,000
Obig & Ha=s BA8 MEX
11,0002 * 1404 1,540
401 Al Bl 28I 224,000 365,000 A 141,000
01 A& HI 224,000 365,000 A 141,000
OMEId N2 FAES(HAE,J1H,8I] S
) 20,000,000 » 14! 20,000
OM=3d s 104,000
D =Y 300& *70,000m" *23] 42,000
> &0 20| 300& *70,000m" *23] 42,000
DSTU(SSMS 2L 5HA)
20,000,000& =14 20,000
OMsS=d 0i=s72& Hte WM (R E Ed
ZZF) 100,000, 000 * 14 100,000
S22 HMsHH2 415,097 428,606 A 13,509




CHISAEAMSA
CHEAME 282l
D SURSHMFAE 2

A - ER(EN) - AR - B of & o4 SSa HIDZ2
SN SsHEHE 2 206,470 171,968 34,502
101 212 8| 21,068 0 21,068
04 JIZtNZ22XNSE+ 21,068 0 21,068
Os2=sMsHdE MHE2L 21,068
>lles 68,8003 x1Q1+134 9,220
PEs=E 68,8003 121 %27 1,858
DX 68,8003 * 12! +6 413
DA 1,857,600 x1Q1+2& 3,716
> EF O 100,000& 1¢! 100
D> HZ A 130,000& 12! x6E 780
D uwsS 2 x| 120,000 12! x68 720
D=ed= 19,061,400& *4.5/100 858
PALEE 19,061,4002 %3.23/100 616
PEAINAYEE 616,000 %8.51/100 53
PUEES 19,061,400 *1.5/100 286
DATHES 19,061,400 *1/100 191
PHEZZ2SE 15,0443 x121 %150 Al 2+ 2,257
201 fEt2E | 175,652 170,208 5,444
01 At2 22l bl 16,320 10,720 5,600
O1 eit=ZH] 9,840
D3lENE M 7003 =1,00001 22 1,400
>SAEX 360,000& 14! 360
DABIIEZH SHAY HUFLLE
15,000,000 *3/100* 122 5,400
DAIZOIESH E22 HMH
1,000,000 * 14 1,000
PEAY S NHA= 15,0003 123 180
DIZEH &Y 300, 000& =54 1,500
O4 1=l 600
DIOIAAZ 2R 100,000& »32! %23 600
05 S&Hl 2,880
Dot & 72 22X
8,000 «621«53] 12& 2,880
06 x= 3,000
DE=JLHIH S B2 3,000, 000& * 14 3,000
02 324t 159,332 169,488 A 156
O1 23823 % HMA 71,240
PENLSTAZ 100,000& ~12& 1,200
DRARIBEHAANES 30,000& x12& 360
PAEIIRS 5,000,000 =128 60,000
Dot AIEZ 700,000& x12& 8,400
DIOtABIAMPEEE 20,0002 %12 20




A MEAEAML L
g HMSAME 2822

el s ESMSHE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
> Xlot==0I8BRE3 100,000& »12& 1,200
Dt AYUOMESIH (Aot 22| XL)
60,000& *13] 60
O2 A=l 86,592
DSUSSMSHAH Y D 2 (S AL
8203 +110m *3A| 2tx320L 86,592
O3 A€ &Hl |XlHl 1,500
DAIRE &40 7 Xl 1,500, 000& 14 1,500
206 M= Hl 150 150 0
01 =8l 150 150 0
O« 30| 50,0003 =3CH 150
405 XHokE S| 9,600 1,610 7,990
01 AL EZFH S 9,600 1,610 7,990
O= A 7,000,000% *1CH 7,000
O=ZegH 700,000& «1CH 700
Od&En 700,000 = 1CH 700
O=2 A AHIED] 1,200, 0002 = 1CH 1,200
SURSMSHEHAMESXE = 208,627 256,638 A48,011
201 Let249] 165,027 163,238 1,789
01 At 22l 22,795 22,995 A 200
O1 Let==ZH| 22,795
Dot M 2 HA EF 500,0003+123 6,000
DY, @AY 25 XE
200,000& 2Kl E 400
DM BHM S=(1004 )
3,3003 +80& +128 3,168
DM BHM S=(50L )
1,690& x40& + 122 812
DEFINMA MBAE EIZEME==2
270,000& x13] 270
DEYe] FIFA =2 300,000& =13l 300
DOIIBHESAE(E2L) HEIA SA=2=2
300,000& »23| 600
DAYAEY otMEY HElE 300,000 «12E 3,600
DAJtE M8l ordAe =S (=L
250KW, & D] 115kW) 404,250 x12& 4,851
D2l HIFEA =2 150,000& * 13l 150
D& otdete] tHelg 2,644,000 104 2,644
02 2324l 142,232 140,243 1,989
O2 A=l 128
DHlAE LI (115KW) -3 =
1,278& %1004 =13l 128
O3 Al ZHl s Xl 142,104




A MEAEAML L
g HMSAME 2822

el s ESMSHE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
PES Y A2 RAES 1,000,000 x 14! 1,000
DM EA 11,000& *142E =23 3,124
DYALS 440,000& x12& 5,280
>Edel M2 5,000,000& =13l 5,000
DA E HHIAE(0NI]) SRR
4,500,000& =13 4,500
DRI S B2 2 55)
5,000,000& » 14! 5,000
DA UHE HA 2,000,000& » 14l 2,000
D st 200,000 = 160H 3,200
DEZFE YESSAFH FEES
1,000, 000& 14 1,000
DESERIHEANLE RIS
4,000,000& %14 4,000
PEADIF Y =HIF KA+
150,000& 203 3,000
DEIANE S+ 5,000,000 = 1CH 5,000
DAAE RIES 3,000,000& x14! 3,000
PESELI RAES 1,000, 000& *2CH 2,000
D 2AE SAES 2,000,000 x14] 2,000
PslEsMSHEH FAEY
93,000,000 =14l 93,000
206 = Hl 18,200 18,400 A 200
01 = bl 18,200 18,400 2200
O3 2=A%F 500,000& =122 6,000
O+=gZ =Z2e| PHZ A 150,000& = 12& 1,800
OEgd 2 200,000 122 2,400
O&X IISX L 313 1,000, 000& 14! 1,000
Oz 8A% 424 WEY
2,000,000& » 14l 2,000
O&J|, sS4, 42 J1H € M=l
3,000,000 » 14l 3,000
Ox=dUE o IR 50,000& *40H 2,000
401 AIEHI L 2 CHYI 25,400 75,000 249,600
01 A& HI 25,400 75,000 A 49,600
O=0sMESdH ANEs 2IEs(248, 01
AL S) 20,000,000& =14 20,000
OsgEsNsdH A=5=2 HIHHEH
5,400,000& » 14! 5,400
FTUMBHS AL 2 214,680 134,268 80,412
FUAMEBT AL 2 214,680 134,268 80,412
101 124 dl 57,892 0 57,892
4 JI12ZtHZ22XREES 57,892 0 57,892




CHISAEAMSA
CHEAME 282l

STMEHSAIE 2L

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
OSYMEHSAAE 22 57,892
>IIE23 71,4003 #2021 %220 31,416
>DESLG 71,400& x20Q1 %43 6,141
DAXE 71,400& *2021 %10 1,428
>ANS 1,570,800 20! x2&l 6,284
>YE S| 628,320& x201 1,257
>y HZAH| 130, 000& *201 x10& 2,600
D uES 2 x| 120,000& *2021x10& 2,400
>=013H= 60,587,900 *4.5/100 2,727
[ = 60,587,900& *3.23/100 1,957
DEIINASLEH 1,957,000 *8.51/100 167
>INESE 60,587,900& *1.5/100 909
DA EE 60,587,900 *1/100 606
201 Bt 127,988 114,468 13,520
01 At 22l ] 9,688 8,488 1,200
O1 etx=gH| 8,488
>PS3US 150, 000& *2 4 300
DSt&EXN L HEEZ2 150,000& ~12& 1,800
D>MYD SEH =5(1002 )
3,300& *x80 &+ 128 3,168
MY BSEH SE(504 )
1,690 *70& « 128 1,420
>AJIE MI|&H] orM 22| a2 (120kw)
150,000& =128 1,800
O6 Xtz 1,200
DAELILYXE 100,000 x1CH*12& 1,200
02 3524t 118,300 105,980 12,320
O1 2222 % [MA 55,200
>DEIR=S 1,000,000& =128 12,000
DAl ER2 3,500,000 x12& 42,000
>S4l 100,000& =128 1,200
O3 A& &Hl s Xl 63,100
DEUMENMESAE FAs8Y
30,000,000 * 14! 30,000
PEUS=0lE 222 29
30,000,000 14! 30,000
DAY S (AN, SHiz)
1,500, 000& * 1Al 1,500
>0l =0lAIE HNMEH HHEZ
1,600, 000& 1Al 1,600
206 T2 Hl 3,000 5,800 A2,800
01 X2 bl 3,000 5,800 A 2,800
O&I|, S, A8 JIH MEH S
3,000,000& x 14! 3,000




2N
X ZH -
L= B

el

T = Al AL

2g el

M= A4

[e2]
=

EN

SUUEMFA

A o

el

A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 24,000 14,000 10,000
01 A& dl 24,000 14,000 10,000
O=s=0/d Os9 EXI3A 2,000,000 54 10,000
O=sxzel (M=) 300& x15,000m" *23 9,000
O=AYENMSANE NME=E N2
5,000, 000& =14 5,000
405 TtatFH S 1,800 0 1,800
01 MM =S FHSH 1,800 0 1,800
Ot 500,000& » 14! 500
O0l=sA HIOI= 100,000& *5H 500
Oolsa okt 40,000% 204 800
SUANDHUFLIAT R 136,629 276, 117 £ 139,488
s FHHELAZ 2L 54,331 47,879 6,452
201 fet23E | 54,331 47,879 6,452
01 At 22/ 5,248 4,748 500
O1 eit=ZH] 3,288
DI &Y 250,000& »2CH »22 1,000
DAZIIEZN SF g JEE =2
40,000,000% *2.97/100 1,188
DOUE M (B2, HUHMT &)
400,000& »22 800
PESaAS 150,000 & »24! 300
O5 =&l 960
DOf2t - 5222 8,000 «2Q1«53] 12& 960
O6 gxt&z 1,000
>eld, 801 &UE 1,000, 000% * 14 1,000
02 S3=29Hl 49,083 43,131 5,052
o1 3323 % MA 47,100
>S4l 45,0003 »2CH x 12 1,080
PEIIRS 3,800,000 128 45,600
D> Xlot==0IE2E3 30,0003 x12& 360
D et =AY oA E 3l 60,000& * 12 60
O2 Azl 1,983
>IIHZB(ZCTI D2 3F)
1,3773 =60 =4 Al 2+ +60 L 1,983
YZHUHUAZALRXES 82,298 208,238 A 145,940
201 2Bt2 | 27,858 24,858 3,000
01 At 2t el b 14,404 14,404 0
O1 &et=3Hl 12,804
DEEX L HEES (A 6HA)
150,000& = 12& 1,800




2N
X ZH -
L= B

el

M= AL AL A
HEAE 2g22

SUYBTTYHLAT 2L

-

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DAY EEMSE(1004 )
3,300 *x50& 123 1,980
DAY BEEHSE (500 )
1,690& +70& «12& 1,420
DXJHE I8 erd e S (+=H Al
500kW) 407,000& 123 4,884
DAagtddl et 2l A= 210,000 128 2,520
D2 HIEA =2 100, 000& *2CH 200
O6 g1tz 1,600
D2 &H Xz (&0 L= 10E)
800, 000& »23] 1,600
02 2324l 13,454 10,454 3,000
O3 A& & Hl s Xt 13,454
DA HA 18& 31,0004/ =13l 558
DM HA 11,000& x10E »23l 220
DIIHEH B2 (S8 ORI 2 65)
1,000, 000& 14 1,000
DY) |FXE 5 100,000& = 13CH 1,300
DN S, AStEEH RAES
3,000,000 » 14l 3,000
DRAFHLAZ YA A 1,500,000& =23l 3,000
>EYI| oA RNBBY
2,188,000 *2CH 4,376
206 = Hl 17,040 16,340 700
01 MHZ 4l 17,040 16,340 700
OFII, S, A% 0 MEH S
4,500,000& 14 4,500
O=&tl =z 55,000& 502 2,750
OM=H 19,0002 60 1,140
OoctelE HelE 60,0003 x4 S +63] 1,440
OXOTZE BHE A 29,0003 *x40E 1,160
o222 & EJFUE 400,000& *22& 800
OHUAUWE 350,000 *13= 4,550
S 101 = 7,000& 1002 700
401 Al HI L 2T 35,000 163,000 128,000
01 A& Bl 35,000 163,000 A 128,000
OQEFLZE ANEE RAEX(AHE2,01H,8D|
g) 20,000,000& =14l 20,000
O A== FI|I¢HEH
3,000,000& 14 3,000
O=sXZel(H=&g) 300& *20,000m" *23] 12,000
405 XHoHF S HI 2,400 24,040 A 21,640
01 At ESFH S 2,400 24,040 A 21,640
OH&ED 700,000 = 1CH 700




A MEAEAML L

HE: HMSAE =g

Sel PUURTUMLIAZ (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OEXIS| 700,000 = 1CH 700
O0ls4l Hol=2 100,000& =104 1,000
=0 HSHAH 22 1,573,196 1,693,074 AN 119,878
=20 HHS I 22 897,452 826,730 70,722
101 @1 21| 63,905 0 63,905
04 JI2ZtHI22 NS E 63,905 0 63,905
O=0MEHH =325 & orM A2 42,837
>Ilea3 73,0003 x2021 %134 19,564
>EEG 73,000& x201 %27 3,942
> ARG 73,000& 201 x6 876
> a2 1,606,000& =201 x2& 6,424
> Y E SO 100,000& x20! 200
> &M ZAH| 130, 000& #2201 x6& 1,560
> uWEE X 120,000& #2901 x6& 1,440
DHAZZLY 15,853& 221 150 Al 2+ 4,756
>=0dZ2 38,761,800& *4.5/100 1,745
[ = 38,761,800& *3.23/100 1,253
DEIINQASLEH 1,252,000& *8.51/100 107
>PIEEEH 38,761,800& *1.5/100 582
DA EE 38,761,800& «1/100 388
O=0MESHE =22 21,068
= 68,800& *101 %134 9,220
>DFEEsY 68,800& *101 %27 1,858
> A 68,800& x 121 x6 A 413
> a2 1,857,600 x121x2& 3,716
>YEFIHH| 100,000& x1 2! 100
> &M Z A 130,000& * 121 x6& 780
> s8R 120,000& x 121 x6 & 720
DAHEZZ2E 15,0443 x121x150 Al 2t 2,257
>=01d=2 19,061,400& *4.5/100 858
>PALEEH 19,061,400& *3.23/100 616
DEIINSEE 616,000 *8.51/100 53
>PIIEEE 19,061,400& *1.5/100 286
DA EE 19,061,400& *1/100 191
201 LBt Y| 806,997 809,440 A2,443
01 AFR2t2ldl 43,857 42,460 1,397
O1 detx=2H| 33,360
DEANSIGSZEHI 450,000 12& 5,400
DAMEIIEZN &EF = IIUE 2
55,000,000& x2.8/100*12& 18,480
>DOglH &l 300,000& *65 1,800




2N
X ZH -
L= B

el

M= AL AL A
HEAE 2E 2
S UM SME 2L

SA BB O () - MM - HES 0l &+ o4 il
DOISHUHE HME(RE, JHANE )
7,000,000& » 14 7,000
PEESAS 500,000 » 14 500
PEAY S NEAHE= 15,000& 123 180
O4 1=l 400
DOIHAEZRA 100, 000& *22!+23] 400
O5 =&l 2,880
>Of2t - 522 8,000& 321102 x12& 2,880
O gtz 7,217
DESI U= 25,0003 x10CH 128 3,000
>HIO 2= 25,0003 x10CH 123 3,000
DEINEEI LU= 33,800 *30H 128 1,217
02 =224l 763,140 766,980
O1 3322 2 WA 605,700
D, AT JIEZHE LIRS
10,000 * 13| A« 123 120
DI 18,000,000& »12& 216,000
Daot=ER=a 32,000,000 «12& 384,000
PUERYRES 2,500,000 » 14! 2,500
DEZHE INLEE =4F 170,000& 123 2,040
Deldgs A= 20,000& x12& 240
DARoHY AIE= 40,000& x12& 480
Det=2dME )= 3 I 100, 000& * 14! 100
> Bt & 22| AHE 2l Bl 120,000& » 14 120
> A gHord & 3l Hl 100, 000& * 14! 100
O2 ¢zl 157,440
D 2R RS (ZAIL)
820 x120m x5 A| 2tx320 ! 157,440
202 oddl 4,800 4,800
01 20l bl 4,800 4,800
OROIHSHMESY P2FX  400,0008 «12¢ 4,800
206 M= Hl 950 950
01 24l 950 950
OE2JI(=gF) 150, 000& *5CH 750
O&3I 50,0003 =4 CH 200
405 THabH S| 20,800 11,540
01 XML = EFH St 20,800 11,540
OHMIE DI 1,000, 000& = 1CH 1,000
OAXD| 2,000,000 = 1CH 2,000
OPC 1,300, 0002 = 1CH 1,300
QYL ID(BIIZolE”HE)
5,500,000 =3CH 16,500




A HSAEAMS

M AL 22 JEFBI

&S I UMSLE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SN SHEHAE R E S 675,744 566,344 109,400

201 £B-2d| 483,294 490,094 A 6,800
01 At 22l 51,954 51,754 200
O1 Let==ZH| 51,954
DRVUMSHH HLAEZ(SEX 2 25F)
2,900,000& x12& 34,800
DIYUMSHEH M SSH SF(100£ )
3,300& x100&+12& 3,960
DIRUMSHAEH M SSH SF(504 )
1,690 x50& <123 1,014
DAJtE MI|ddl MR S| (=& & H[ 1,400
kw/Hl &2 &I 300kw) 4,000,000& =14 4,000
DAYAY otMEH W& Z 540,000 «12& 6,480
D2l EIFEA =2 150,000& * 13l 150
DEFNAAEANE FINEH =2
350,000& x13] 350
DEAMUHAIDN(E2L]) BAx=2E
300,000 *2CH *23] 1,200
02 =224l 431,340 438,340 A7,000
O3 A& & Hls X bl 431,340
DYALS 440,000& 123 5,280
DA FA 18&%120,000¢ =13l 2,160
DM EA 11,000& 200 E *23| 4,400
DIHelst=HMelAld 34 2 |2
300,000& =122 3,600
DActE+E HA L HEZ SANEH(45
£) 2,000,000 *20H 2 4,000
PEXIEH & SIEEZ ZHUA
6,600,000& x13] 6,600
Pdd =3I B ¥ EHUA
1,000, 000& »2CH 2,000
DAEEYe - SUEI| M2 ¥ A WA
6,000,000 » 14 6,000
BT YSSMNTY L2
3,000,000 =14 3,000
PESSABRANAY SN
15,000, 000& 14! 15,000
DG fAZAMNAEH RAEH(ED
1E) 5,000,000& =14 5,000
PES L A2 RAES 8,000,000 x 14! 8,000
DA AsHAHAMAE SRS
5,000,000& » 14! 5,000
PEXEEH RAES 2,000,000 *3H 2~ 6,000
Psddl otd RXl2eEH
2,800,000 = 1CH 2,800
DEAIFAEH RAES 300,000 153 4,500




M MEAELAL

M AL 22 JEFEI

&S I UMSLE 2 (&)
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ps7d ¥ USHMS2 RAE+
5,000,000& =14 5,000
DROMSHE EA8H 343,000,000 14 343,000
206 M= Hl 34,450 34,450 0
01 MHZ 4l 34,450 34,450 0
O&Il, sS4, A8 JIH MEHl S
5,000,000 » 14! 5,000
OdUE (g%, 8AF, ot&4A, 4H) ¢
S| A7 50,000& 504 2,500
O3 2=A4F 1,500,000& =128 18,000
OWlHER0I I (=L . &EA AFRE)
45,0003 *30H 1,350
O&EXEIIN (AL, KZ) 100,000 «20M E 2,000
O==g& ZLEE 2 40t 10,000& 2004 2,000
OMHIl & B3 30,0002 1204 3,600
401 A& HIZ 201 I 158,000 41,800 116,200
01 A& HI 158,000 41,800 116,200
OAN&EE SXNE=(AHA8 01U .80 8)
20,000,000& =14l 20,000
ORVIKSHE 2SS FIAHE
7,000,000& » 14! 7,000
O30 HsHH 422(25) LEOZ=YE nHBA
20,000,000 =14l 20,000
O32HMSHH A22LAE B
10,000, 000& * 14! 10,000
O=gHsdH 4l X115, 28)
10,000, 000& 14! 10,000
O=AMsHH JIHLH 2> 91,000
DIIHAHE S & T2 13,000,000 14! 13,000
DOIHA -3 =32 2 HH2tux
20,000,000& =14 20,000
DEgY¥3a, R0E )| uH
15,000, 000& 14! 15,000
DEYY tMEX X ¥ S=Hi2 WA
22,000,000& =14 22,000
DASHO AIAE WX 21,000,000 » 14 21,000
Ao EMSs222 159,894 200,580 A 40,686
A EMs22E 2 64,464 64,200 264
201 Let24E] 64,464 64,200 264
01 At 2t 2l 1,464 1,200 264
O1 et==2Hl 1,200
>EIE 2E+=8H 100,000& =122 1,200
o6 g1tz 264
DESI LU= 22,0003 x10H =128 264




A MEAEAML L

g HMSAME 2822
¢ delEXMs2Re (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 =224l 63,000 63,000 0
O1 22232 % HMA 63,000
PHEIRS 5,000,000 «12& 60,000
DeRHUMES 40,0003 =128 480
DYUBES RS 10,000& =128 120
>CCTVal & 2 100,000& =123 1,200
PUSRLRYES 1,200,000& *123] 1,200
A EMSZANERNES 95,430 136,380 A 40,950
201 L Et2A | 76,430 116,680 240,250
01 AtR 22l | 22,830 22,830 0
O1 get=2Hl 22,830
DUCIEMSE2 ¥ A2 FASE (3
A 2 258) 750,000& x12& 9,000
DUCIEMS2 L FSA2H LAIISSF(10
0£ ) 3,300 «100& <123 3,960
=D ZHUM(EE &8l &Mel 2
L WYl ZE) 800, 0003 =14 800
DXJHE I8 erd e S (=HAHI
400kw) 330,000& =128 3,960
DAagtddl et 2l (A= 180,000 128 2,160
D2l HIZEA =2 150,000 14| 150
P&l 2td | Ze S
2,800,000 «1CH 2,800
02 =224l 53,600 93,850 A 40,250
O3 A€ ZHI =Xt 53,600
DUCIEMS2 oo, MY A2+
2,000,000& =14 2,000
DHAAS 50& *3,000m x 102 1,500
DHsZEA 11,000& 50 & 23| 1,100
DUCIEMS2 HSAZY FLEX
9,000,000& 14! 49,000
206 T 2 bl 9,000 9,000 0
01 =4l 9,000 9,000 0
O&Il, sS4, A8 JIH MEHl &
2,000,000& 14! 2,000
O SEAM ¢ 5,000,000 14| 5,000
Ox=dd= & IR 50,000& 305 1,500
O&s ¥ =22 HHEX 50,000 = 10K 500
401 Al HI L 2T 10,000 10,000 0
01 A€ HI 10,000 10,000 0
OYCIENSZ AEE SAE=(HE, JH A
as) 10,000,000 =14l 10,000
cCENsa2e 734,217 671,008 63,209




CHISAEAMSA
CHEAME 282l
CCEMs22

SN HH-S(BN) - MBAY - B il HlnE2
CENsa2d 2 348,038 329,799 18,239
101 @14 Hl 21,068 0 21,068
04 JIZHHZ2XNEE S 21,068 0 21,068
OtEgxsa tHE2e 21,068
= 68,8003 x101%134 9,220
DEFY 68,8003 10127 1,858
DAY 68,800 121 62 413
SO = 1,857,600& =121 »2& 3,716
> HE S| 100,000& 12! 100
D> & Mz AlH| 130,000& 1Q1x6 & 780
>uNES2 X 120,000 121 x6 & 720
PAZZZE 15,0443 121 x150A| 2t 2,257
>I0AHZ 19,061,400% *4.5/100 858
PALEE 19,061,400& *3.23/100 616
DAINQYEE 616,000& *8.51/100 53
>PIESEE 19,061,400 *1.5/100 286
>ATHE S 19,061,400 *1/100 191
201 LBt2d| 322,170 324,999 A2,829
01 At 2t 2l 24,600 25,520 A 920
O1 et==2Hl 18,480
>DEAMA2IE S 100,000& =122 1,200
DAUENEZN =5 = JIIYEH =2
0,000, 000& *3/100*12& 10,800
DOl EY 300,000 x4 24 2,400
DOIEotUE M (RE, sI)NE &)
3,000,000 » 14! 3,000
DEMTLOIEEAM 2 35) 200,000 *23 400
DZE 23 500,000 » 14! 500
PEAY S = 15,000& =128 180
O4 1=l 600
DOIHA 22 100,000 »321 x23] 600
O5 =l 1,920
>or2t, 5 8,000 x221x103| x 128 1,920
O6 2tz 3,600
=20 2z 15,0002 = 10CH »12& 1,800
>Hlo 2= 25,0003 «6CH«123 1,800
02 3322l 297,570 299,479 A 1,909
o1 222 ¥ 226,830
>HEIRS 10,500,000& = 12& 126,000
Dast=ER3 8,000,000& x12& 96,000
PIUSFLYRES 2,000,000& *12| 2,000
DHAADEE 23 100,000& =10 1,000




A MEAEAML L
g HMSAME 2822

& EEHSs2a (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DEZHINE SMHYS =42 100,000 122 1,200
DeIRoHU AEE 40,0003+ 123 480
DIOtAHIAMABE = 50,000& *13] 50
> A 2o & 3l Hi 100, 000& * 12/ 100
O2 Hd=l 70,740
DEEMSZ e L 22(TAIJHA)
8203 *130m *3A| 2tx220Y 70,356
> & & J1 (300kw) 1,278& %3004 =13l 384
202 4l 4,800 4,800 0
01 = LH YI 4,800 4,800 0
Otdgisa g42=4 400,000& 123 4,800
CEMsSHANERNES 386,179 341,209 44,970
201 LB-2%| 249,579 241,979 7,600
01 At 22l 34,809 34,809 0
O1 get==2Hl 34,809
PEEMSZ HASE(SEX 2 258)
1,500,000& »12& 18,000
DM B2HSSE(1002 )
3,300 x15& =128 594
DMl BEHMESSE (504 )
1,690 x15& <122 305
DAJtE MIIdY etz S (=L
600kw/H| &2 & I 300kw) 900,000& »12& 10,800
DAYgAY ordEH W3 Z  330,000&+12& 3,960
>s2Il FIFEA =2 150, 000& »2CH 300
DEFHNMAMEANE HIIEE =2
350,000& =13 350
DZAUAIDN(ELe BME2T)
250,000 »2CH * 13 500
02 =224l 214,770 207,170 7,600
O3 A& & dIs X bl 214,770
DYALS 440,000& 123 5,280
DHsZEL 11,000& 240 & »23| 5,280
DEXJEH A ¥ 2el 1,000,000 *4CH 4,000
D& ddlate 10,000, 000& 14! 10,000
DAEEYY ¥ Swad| A2
2,000,000 *2CH 4,000
DESE2I AL RIS
14,000,000 * 14! 14,000
DAGHATBNALY SA A
5,000,000& » 14! 5,000
DIZ2ANAE SANES(SIEEZ 2 38)
10,000, 0002 14! 10,000
DASHOHAAE S22 5,000,000 x14! 5,000




CHISAEAMSA
CHEAME 282l
CCEMs22

- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
DEIADREYH SANEX(HYHA 2 278)
300,000 27 8,100
DM HFAsd 139,000, 000& 1Al 139,000
>EYI| O RXBABY
2,555,000 «2CH 5,110
206 M = dl 23,500 27,250 AN 3,750
01 X2 bl 23,500 27,250 A 3,750
Oz & S&H 200,000& x12& 2,400
Ox=gd& =xXes A3 500,000 x12& 6,000
oBgd #2H 100,000& 12& 1,200
OYLLMIR L3S 7,000, 00021 14! 7,000
OASE, &I, A, S8, 2% S(E2I| S
208 ) 200,000& 20 4,000
OdHEHOI N (AR A HIXZE) 50,000 «8JH 400
OMRI 8 &3 1,500,000 = 14! 1,500
O+2% YEHEEC S 2422
1,000,000 = 14! 1,000
401 AlEHIZL 2 0HY| 105,000 65,000 40,000
01 Al& H| 105,000 65,000 40,000
OCHMSsSH ANEE IEL(HE, JIAH, &
Il ) 35,000,000 = 14! 35,000
O =2 HY ME B A 20,000,000 * 14! 20,000
O & dalaz&X AX 20,000,000 14! 20,000
Ox=H &AL S M ZBA 10,000,000 » 1Al 10,000
OL=G&HY EILELZ2 A 20,000,000& = 14! 20,000
405 Xt S| 8,100 6,980 1,120
01 AL 2 FF S| 8,100 6,980 1,120
OsE=22H 3,750,000 x14! 3,750
OPC 1,300, 000& =204 2,600
O&ZBHADI| 500,000 =2CH 1,000
@)=w) 150, 000& *5CH 750
JIEFHI = Al E 22 89,250 62,750 26,500
JEIMSAIE2Y 2] 46,400 20,400 26,000
201 gEt24Hy| 20,400 20,400 0
02 Z2=2=2494| 20,400 20,400 0
O1 222 % HA 20,400
DEISS(H2HS2 2 60HA)
1,700,000& x12& 20,400
401 AlEHI 22 OhYI 26,000 0 26,000
01 Al&H| 26,000 0 26,000
B HAES HIIAHEEH
6,000,000 1Al 6,000




2N

M= AL AL A

M HMESAE 222
Sl JIEtMS Al E 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ1s HAIN wxH 20,000,000& =14 20,000
JIEtHNSAERAE = 42,850 42,350 500
201 Lt 8,350 8,350 0
01 At 22l 3,960 3,960 0
O1 gt=EHl 3,960
DHMRMS2 UItE I8 td 2]
Z (=& &l 63KN) 150,000& * 122 1,800
PHSHSR AWML GFEY (H=
180,000& =122 2,160
02 =24l 4,390 4,390 0
O1 83322 ¥ HA 60
DEt S AYUMFSIH (Aot M 2| XL)
60,000& *13] 60
O3 A& & HlIs X bl 4,330
DM Sthe, Ast8H AL+
3,000,000& »14! 3,000
DAESIE HFA(H2ASH)
18& %25,000£ *13 450
DH+E HA(H2ASH)
11,000& x40 = »23] 880
206 = Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
O&Il, sS4, A8 JIH MEHl S
2,000,000& x14! 2,000
401 AIEHI L 201 32,500 32,000 500
01 A& HI 32,500 32,000 500
OJIEHMENMESAIE AEdE FNES(HE,D]
A, H®I| E) 30,000,000 =14 30,000
O22H AS2 FIIAFFY
2,500,000 » 14! 2,500
S M S 2 53,012 50,612 2,400
S$ZHsHI2E 22 53,012 50,612 2,400
201 Let24E] 33,212 30,812 2,400
01 At 22l 13,766 13,766 0
O1 Let==EH| 11,246
DOESE EY 500,000& x13] 500
DABIE BHAY NUH 242
60,000, 000& *2.97/100 1,782
DOtUE M (=2, AT S)
400,000& »23| 800
DESEAS 150, 0002 *24 300
Dol d HASE(MA 2 108)
125,000& 128 1,500




A MEAEAML L
g HMSAME 2822

el BANS TN (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
DEAX L HEEIS(SHEAGIHA)
150,000& = 12& 1,800
D>MYD M S5(1002 )
3,300& x40 & x12& 1,584
D>MYD| M 25500 )
1,690 *70&x12& 1,420
D>AJIE ®I|AdH otF2AL S (=S
129kw) 130,000& *12& 1,560
O5 =&l 1,920
>Oor2t, 5222 8,000 x221x103| x12& 1,920
O6 itz 600
>ESI Uz 25,000 *2CH x12& 600
02 352494l 19,446 17,046 2,400
O1 2222 ¢ HMA 19,446
DEIRS 1,400,000& x12& 16,800
DEER= 170,000& = 12& 2,040
DAEASE HA 18& +7,0004 *13] 126
>S4l 40,000& x12& 480
206 M = Hl 5,800 5,800 0
01 &bl 5,800 5,800 0
O&I, S, A28 JIH MEH S
3,000,000& x 14 3,000
OF72Y% . ZT42Y,F7UHE S
400,000& *7x 2,800
401 Al HI L 2 0HHI 14,000 14,000 0
01 Al &bl 14,000 14,000 0
OAMESHX AEES SAE%
5,000,000& * 14 5,000
OsXZel(M==¢g) 300& *15,000m* *23| 9,000
SAZAINES A 22 353,290 33,990 319,300
MEAMES 32 353,290 33,990 319,300
201 et A | 23,890 24,590 AT700
01 AFR2 22l dl 3,910 4,610 A 700
O1 dEtx=2H| 2,470
DIZEIEH EY 300, 000& =23 600
DOHHE ME(S2, GHUEI S)
200,000& *23| 400
>PES=UE 150,000& * 14 150
>AIIE MIEH ot HEZ
110,000& = 12& 1,320
O5 = &l 1,440
>of2t, 522 8,000& x121%x155| x12& 1,440
02 533294l 19,980 19,980 0




A MEAEAML L

HE: HMSAE =g

S@He AT AR 2 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O1 2222 ¢ HMA 18,480
DEIR= 1,000,000& «12& 12,000
PR3 500,000& x12& 6,000
>S4l 40,000& x12& 480
O3 A& &Hl =Xl 1,500
DAY SXH (A, 280 2)
1,500, 000& 14! 1,500
206 M = dl 1,400 1,400 0
01 &2 bl 1,400 1,400 0
O&EI|, sS4, A8 JIH M=EHl S
1,000, 000& *1A! 1,000
o722 &« FHAUE 400,000& 1= 400
401 Al HIL 201 328,000 8,000 320,000
01 Al&HI 328,000 8,000 320,000
OEAMEZANMEIE NESRAES
5,000,000& x 14! 5,000
O=sXl &2 3,000,000& » 14! 3,000
OSAMH=EZ2Y XYEY SJ17 DM EA
300,000,000& » 14!l 300,000
OHMHSBE AR 2SHZ 24 L O|F
A X 20,000,000 =14 20,000
EH &A= & X 22 175,893 0 175,893
BHENSCXSE 2 175,893 0 175,893
101 @1 21| 67,031 0 67,031
04 JIZtHIZ2E2NEE 67,031 0 67,031
OEH&E M= X 22l 67,031
>olEs 71,400 #2021 220 31,416
>EEE 71,400& x2021 %43 6,141
> ARG 71,400& x2021 %10 1,428
> a2 1,927 ,800& x201 x4 & 15,423
>YEESIHH| 628,320 %201 1,257
>y HZAH| 130, 000& *2021x10& 2,600
D uWEE A 120,000& 221 x10& 2,400
D=0AZz 60,587,900& *4.5/100 2,727
PALAEEH 60,587,9002 x3.23/100 1,957
DAIRQUAEEH 1,957,000& *8.51/100 167
>PINEEE 60,587,900 «1.5/100 909
DA EE 60,587,900& *1/100 606
201 LEr2 Y| 35,862 0 35,862
01 AP 2t2l bl 8,302 0 8,302
O1 etx=2H| 6,382
>DIOgH &Y 500,000& =13l 500
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SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
CUEIIC ERAY JI8A F4E
60,000,000 *2.97/100 1,782
DOotLIE M (S48, U S)
400,000& *23| 800
>PES=US 150,000& *x23] 300
>AIIE MIEH ot HEZ
250,000& = 12& 3,000
O5 = &l 1,920
>of2t, 5422 8,000& x201%x103 x12& 1,920
02 533294l 27,560 0 27,560
O1222=2 % HA 22,560
>DEINRS 1,500,000& x12& 18,000
e =1 300,000& x12& 3,600
>S4l 80,000& x12& 960
O3 A& &8I X bl 5,000
DAIEEHSXH (I, SH2)
5,000,000& * 14 5,000
206 M = Hl 5,000 0 5,000
01 M= bl 5,000 0 5,000
ONI|, S&l, 48, JIH MEH S
5,000,000& * 14 5,000
401 AIEHIL 20| 68,000 0 68,000
01 Al& Bl 68,000 0 68,000
OHEMEHX ANESRANES
20,000, 000& *14! 20,000
OHHEMEEX =Xz 48,000
> M=&S 300& *40,000m* *23| 24,000
> &C 24 D) 300& *40,000m* *23] 24,000
HE2GFH| 522,780 463,863 58,917
OlE2HHI(MSAEAIEA) 285,360 347,947 N62,587
OlESAY (MSAIEAEA) 285,360 347,947 NB2,587
101 @121 285,360 347,947 NB2,587
01 24 94,581 138,420 N 43,839
OAZ2AZ222Y 10,509& #3021 *300A| 2+ 94,581
02 JIEt& 2% 44,138 63,305 N 19,167
OAZ2AZ22E 10,509& 1491 x300A| 2+ 44,138
03 RIHEZZAE 146,641 146,222 419
OUAFDZLY(RFYZEH) 4,457
DEIAMRIA(AEZHL)
14,855& 121 *300A| 2+ 4,457
OHF¥2ZZLY(2UMSHE) 66,659
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2N HSALAYL
ol HZ2 YA

¢l JI2H(MSAZAS L) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHMSAE GFRF& 220l

2,000,000& » 14! 2,000

203 YR =&l 11,200 10,600 600

02 AP 2= 3,280 3,040 240
OF AL S = 40,000 x82¢I 3,280

04 NI FAH 7,920 7,560 360
ORN2EYE=AHI 660,000 =128 7,920

405 XH&HE S| 4,800 1,400 3,400

01 AL ESFH S 4,800 1,400 3,400
Ode& 3Dl 2,900,000 = 1CH 2,900
O=2 A AIED] 1,200,000 = 1CH 1,200

o=ZgH 700,000 = 1CH 700




